fii
(1)

202548 H 28 A
R AT A R A At

8 5 1 A Uk SRl B
202581 0H%

THE B
THE LR 10. 0%
JFEMRS (Bidk)

B 33T 5 20254E5 H 92 B20254E7TH £ TOE B #EHEIC XL © £,
O LPGVHMmEE = 81,820M/t

JEUE R L (BlaA)

#ak FLAfh
fii 5 77 A /s fita ik 69. 53/

Sh 7 A INFEMAE KK
JEURHilfiRS ZZEhEE (Bitk)
| SERIECEMRE — JEESEEFURHEAS |
= |81,820[9 — 51,680H |
| 30, 1401
30, 140/
— 30, 100 (100 AKJi Dy 2 8) 0 #5C)
JEURHE TR HA (BiA)
S JEURH RS 53 FEVEST- Y JFURMIiAS LL D 7=
0.210 X JFEMIRSZEN%E — 100/ X (1 + HEHR)
0.210 X 30,100[9 =+ 1007 X (1 + 0.10)
= 69.531Y
—  69.53[  UNBUSER 2 (A O E 2 B D/ S WIFIZE) Y #570)



